
Terraking Blade Marker
Instruction Sheet

Product Description:
TerraKing Heavy-Duty Blade Markers are made from a  
high-strength cable encased by a high visibility plastic tube 
topped with a vinyl end-cap. One inch DOT rated reflective 
safety tape wraps the top end of the marker to increase its 
visibility in adverse conditions. The markers are supplied  
with fastening hardware and brackets for additional  
mounting options.

Instructions
Installation Instructions:

Flat Surface Mounting

1.	 Drill or use a 7/16” diameter hole to mount the blade 
marker. The center of the hole should be approximately 
3/4” to 1” inside of the edge of the blade.

2.	 Thread the standard hex nut all the way on the threaded 
steel base and insert the remaining threads into the 
newly drilled hole (blade marker sticking up above the 
blade). Install the nylock nut to secure the plow marker to 
the plow and torque to 18 ft.-lbs.

Angled surface mounting

1.	 Use the mount bracket as a template and mark  
the hole location. 

2.	 Use a 5/16” drill bit to drill the marked hole locations.

3.	 Bolt the bracket using the 5/16”-18 x3/4” bolt and  
5/16”-18 nylock hex nut. Repeat steps 1-3 for the 
opposite side mounting location.

4.	 Thread the standard hex nut all the way on the threaded 
steel base and insert the remaining threads into the 
newly drilled hole (blade marker sticking up above the 
blade). Install the nylock nut to secure the plow marker to 
the plow and torque to 18 ft.-lbs. 

Warranty:
Limited Warranty 

TerraKing Blade Markers are guaranteed to be free from defects 
in material and workmanship from the date of purchase for 1 
year provided that the purchaser properly assembles, installs, 
uses and maintains the products in accordance with this 
manual. 

Purchaser’s failure to adhere to such requirements will void 
the warranty. To the extent permitted by applicable law, all 
other warranties, representations, obligations and conditions, 
expressed or implied, including but not limited to implied 
warranties of merchantability, fitness for any particular purpose 
and non-infringement, are hereby disclaimed and excluded. 

Any product which does not meet warranty shall, as purchaser’s 
sole and exclusive remedy, be repaired or replaced by 
TerraKing. This warranty is non-transferable. In addition, our 
warranty does not cover:

•	 Labor charges 

•	 Loss or consequential, incidental or special damages  
of any kind 

TerraKing reserves the right to request photos or return of 
damaged/defective parts. Please have a copy of the original 
purchase order, receipt and serial number (if available) to submit 
the claim. All warranty parts must be supplied by TerraKing. We 
will not reimburse for parts purchased from other suppliers.

Works great with:
•	 Blades 
•	 Snow Plows
•	 Snowblowers

Made in the USA
(717)286-1444

http://terraking.com

Parts in kit
Qty Description

2 Blade Maker

2 7/16” - 20 Hex Nut

2 Mount Bracket

4 5/16” - 18 x 3/4”  
Hex Head Flange Bolt

4 5/16” - 18 Nylock Hex Nut


